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2z — 3y = -8 . . . . . . .
{1 Az — 21y = 3 Adding 7 times the first equation to —1 times the second equation gives

14z - 21y = —56
14z + 21y = -3

0 = —59, which is false. Therefore, there is no solution to this system.

25x — 75y = 100
—10z + 30y = —40
z—-3y=4

Adding % times the first equation to 11—0 times the second equation gives

—z+3y=—4

0 =0 , which is always true.

We now put the equation in slope-intercept form. Wehavez —3y=4 & —-3y=-z+4

S y= %x - %, s0 a solution is any pair of the form (:c, %x - -g—), where « is any real number.

{ u—30v=-5 Adding 3 times the first equation to the second equation gives

—3u+80v=>5
3u—90v = -15
—3u+80v=>5

—10v = -10 & v=1
Sou—30(1) =—-5 < u=25. Thus, the solution is (u,v) = (25, 1).

3 1 1
3p_1ly=1
{ 2 3Y =2 Adding —6 times the first equation to 4 times the second equation gives -

-9z 42y =—
8z — 2y = —2
-z =-5 & =5 S09(5)—2y=3 <« y=21. Thus the solution is (5, 21).

r—3y=4x—-6y—10 ., ... . . . . .
{ 9z = 12y + 10 Simplifying the first equation rearranging the secopd equation gives the

system {T?iz——i_l gz z 1_010 . Adding 2 times the first equation to 3 times the second equation gives
—6z + 6y = —20
6z — 36y = 30
—-30y =10 & y=-1L

So2z—12(-3) =10 <« 2z+4=10 < z=3. Thus the solutionis (3,—3).

z=2z+y . . . z+y=0 . .
{w — % +1 Rearranging the second equation gives the system { r—2y=1" Adding the first
equation to —1 times the second equation gives x4y =0

—z+2y=-1
y=-1 & y=-4.

Soz+(-1)=0 <« z=1. Thus, thesolutionis (},—3).



